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Level 3 Economics, 2016

91400 Demonstrate understanding of the efficiency 

of different market structures using marginal analysis

2.00 p.m. Friday 25 November 2016 

Credits: Four

Achievement Achievement with Merit Achievement with Excellence

Demonstrate understanding of the 
efficiency of different market structures 
using marginal analysis.

Demonstrate in-depth understanding 
of the efficiency of different market 
structures using marginal analysis.

Demonstrate comprehensive 
understanding of the efficiency of 
different market structures using 
marginal analysis. 

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.
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No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.





















  

Merit exemplar 2016 

Subject: Economics Standard: 91400 Total score: 17 

Q 
Grade 
score 

Annotation 

1 M5 

Shades and labels graph accurately. 

Explains the price and quantity effect on consumers of the allocatively efficient 

outcome but does not include explanation of consumer surplus. 

Explains the removal of deadweight loss, but omits an explanation of demand 

= supply (MC=AR), and incorrectly refers to both consumer and producer 

surplus being maximised, when it is the total sum of both that is maximised. 

Explains in detail the government intervention at the allocatively efficient 

outcome in the electricity market, which gains the M5 grade for this question. 

2 M6 

Shades and labels both graphs accurately. 

Explains in detail the changes to both markets in the long run, including 
market supply and market price, which lead to the changes in MR and AR for 

the firms. 

Explains in detail the normal profit earned in the long run on Graph Two, but 
neglects to include the detail of normal profit (AR=AC) on Graph Three. 

Uses marginal analysis correctly to explain the changes in output by the firms 

but omits the detail of missing out on marginal profits on Graph Two and 
making marginal losses on Graph Three. 

3 M6 

Labels changes on both graphs accurately, although the minimum of AC1 on 

Graph Five is just barely within the margin of error at the intersection of MC. 

Explains in detail the impact on profit of a change in income, including 
changes to AR and MR and the resulting supernormal profit as AR1>AC. 

Explains in detail the impact on profit of a change in fixed costs, reducing AC, 

making AR>AC1. 

Explains the change to profit-maximising quantity, but incorrectly uses 

marginal analysis, including additional revenue instead of marginal profit. 

Marginal profit is additional profit made on an additional unit of output and is 

the important detail omitted from this response for the firm to change output – 
hence M6 is awarded. 

 


